Intermediate Algebra B
LT6.1

Name

Simultaneous Roundiable

NO GRAPHING CALCULATORS!

1. Sketch the end behavior:
f(x) ==5x3—4x?+x+2

N

2. Sketch the end behavior:
f(x) = =(x—=2)(x + 4)(x + 1)2
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3. Graph the polynomial:
fx) =x(x+2)(x—4)

a. End behavior:
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b. x-inter?epts &
and multiplicity:
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4. Graph the polynomial:
f(x) = —(x + 3)%(x — 5)3

c. End behz‘g(ior:
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d. x-intercepts
and multiplicity:

6-3!0)“‘1
(3“0)/5

5. Graph the polynomial give that (-2,0) is an intercept

e. End behavior:

f. x-intercepts
and multiplicity:

flx)=x3—-6x%—x+30




Sketch a graph given that (4,0) is an
intercept

f(x) =2x3 —5x* —-14x+ 8

Sketch a Graph:
f(x)=x3—3x*—-6x+8
Given x = -2 is an x-intercept

a factor
f(x) = 2x3 + x%2 —50x — 25
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Sketch a graph given that (x + 5) is Question:

Find the solutions:
f(x) =5x3 +9x%2 — 26x — 24
Given (x - 2) is a factor
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